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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1.  Tenef TageH 91 93 99 W Ak sifqerdd: faw |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. W T F fe<l 9 SiUsh TURR H fRE ybR *1 qfe / AR/ faiuae g1 W
&= T % IR I TR A |
If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version should
be treated valid.

3. 9 g w1 fqad §

All the questions are compulsory.
4. YI® I H SN & T IW-Yew H & fag |
Write the answer to each question in the given answer-book only.

5. o 9 & T ¥ Afysh TuM i el 9 €, 39 9eft el 1 T T WY Taq
fod |

For questions having more than one part carrying similar marks, the

answers of those parts are to be written together in continuity.
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6. T HEN 29 5TH 3T ALTHS ¢ |

Question Nos. 2 to 5 are very short answer type.

7. U HH® 1 9R 96 (i, ii, li T4 iv ) § | T 90 & IW k IR faemeq
(3,9, 9T §) B | 921 fashed 1 STUER SW-Yiden § H=ER arfere
ERIETRSICRE

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
Jour alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

mentioned below :

U9 Rk e ST hT ShuTaR

Question No. Correct letter of
the Answer

1. (1)

1. (ii)
1. (iii)
1. (iv)

1. () = H ¥ *E-9 Seed IRaR § ?
(1) TH T T (%) THTH TFEH
(9) T (3) sTHIER |
Which of the following is a database software ?

(A) MS Excel (B) MS Access

(C) MS Word (D) All of these.

N =
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(i) T
(31) Tk Wfad FaIstl &l sfiesiae
() T feome za
(@ () T () T
() T 9 FE T |
Entities are
(A) object of structured information
(B) a design tool
(C) both (A) and (B)

(D) none of these.

N =

(i) THHICS § AfhaH FIFRI WR HH & = G 7 ?
(1) 65000 () 32500
(¥) 25960 (3) ¥ 9 g T |
Range of maximum character storage in memo field is

(A) 65000 (B) 32500

(C) 25960 (D) none of these. 5
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(iv)

4
SIGN ( — 30 ) @1 =1 9fomy & ?

(1) 0 (7)) 30

(¥ -30 (7)) -1.

What is the result of SIGN (-30) ?

@ o (B)

@ -30 (D)

TH ¥ TA F o FH PR ?

What is the full form of SQL ?

rafge Hsft N Bt § 2

What is primary key ?

INITCAP( ) el 1 %l JaRy |

What is the function of INITCAP( ) ?

DROP FHUE fHH &H odl & ?

What is the use of DROP command ?
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10.

11.

12.

T i R 2

What is Data integrity ?

TR AEA F M AH T ?

What are the advantages of ER-Model ?

3 NF & sTavashaet & fafeu |

Write down the necessities of 3 NF.

Hieqed FM T € ?

What are modules ?

HH Td Ta-H § R TR a1 § 2

What is the difference between form and sub-form ?

Vel 1 ITAM forafa fan smar € 2 3w e |

Why are shortcuts used ? Give examples.

HIfET = Tt § 2 WHSST |

What is SORTING ? Explain.
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13.

14.

15.

16.

17.

18.

6

UPPER( ) Td RPAD( ) %ol &l THEET |

Explain UPPER( ) and RPAD( ) functions. 2

Y F B R 2 HH G R A ol 1 9o Hifee |

What is form ? Explain the benefits of form. 3

TS hl SSELU Gfed TH=ATST |

Describe the index with example. 3

TH 9 TA Hedl sl YA Sl IS0 Higd FHEEy |

Explain use of SQL functions with example. 3

I I TSEH UEHd @i, WA i Td heree i hl GHAET |

Create a table and explain primary key, foreign key and candidate

key. 3
fheefT &l I9emEy |
Explain filtering. 4
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o fa) A

19. TH TH TRH & fHAfafEd Bhid @isised &1 9uid Hifvg :

) fesma=g

(i) SrENRiE =

(iil) STeEE |

Explain the following screen layouts in MS-Access : 4

(i) Design view

(ii) Datasheet view

(iii) Database view.
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